ITEM NO. PART NUMBER DESCRIPTION QTY.
1 MS1014 M8 washer (stainless) 2 -
2 MS2015 M8 x 1.25 x 16 BHCS (zinc plated steel) 2
DS0035R right rocker framepiece w/eyelets (6-4 titanium)
3 DSO030R right rocker framepiece no eyelets (6-4 titanium) |
DST1035R right rocker framepiece w/eyelets (17-4 stainless)
DSTO30R right rocker framepiece no eyelets (17-4 stainless)
4 DR4042 right rocker insert, DT Swiss thread, hanger (6061 aluminum) 1

Check website for additional insert and hardware options.

E
D
.157in
u Eyelets -
— M5 threaded |
C
L 45.0°
— DT Swiss thread
M12 x 1
—T =
| 26.6mm |
| 1.047in 1
B
- [15.9mm] —
.625in
8mm | [12.7mm | [81.6-99mm]
.315in .502in - 3.2—3.9|n —
19mm | /in adjusment range
.748in
UNLESS OTHERWISE SPECIFIED: NAME DATE P M h' W k
DIMENSIONS ARE IN INCHES DRAWN | JM  3/13/12 aragon acnine OrkKks
FOACTONAL: CHECKED JITLE: . .
e R right rocker insert, DT Swiss
PROPRIETARY THREE PLACE DECIMAL + MFG APPR. 42 2 | h
142-12 axle, hanger
THE INFORMATION CONTAINED IN THIS TOLERANCING PER: COMMENTS:
Elsﬁh\//\vElgﬁLléEpRRsoAvl\llDDEIE;FC()ERSOLE MATERIAL SIZE DWG. NO. REV
PROPERTY OF PARAGON MACHINE
oSS MNSTEODICTONN AT\ uson | s C DR4042 A
nggllssswlggﬁgggﬁgeew MACHINE APPLICATION DO NOT SCALE DRAWING SCALE: 1:1 WEIGHT: SHEET 1 OF 1

7 6 5 4 3 2 1



	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3
	Drawing View4


